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OVERVIEW

The X773 states the reason WX is written in the 770 (even though it can be derived
from 7171 7M 72); to inform us that WX is Mwd by nv. Our Moon offers an
alternate reason.
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The X713 could have said that the 770 taught us WX in order to make WX liable

(even) for damaging 2%95. The reason we would have thought that wx is "5 by 09, is -
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Since wX cannot be derived from the maX which are alive (such as 7 and 27X),
but rather wx can be derived only through a mws 7¥ of one of the Max and =13;

where 712 is "2 by 2%%5. Therefore if wx would not be written, but derived from a mw: 73
of 717 M 73, we would assume that WX is also MWD by 295 (as M2 is).2 Therefore the 771N
writes WX explicitly so there is no need to derive it from (737 M) 2. There is no cause
therefore to exempt W& from paying for burnt 0°%>.

SUMMARY
The X713 could have answered that WX was written 2°92:77 DX 12 27175,

THINKING IT OVER
What are the relative advantages and disadvantages of the s'&773 and mMo0In reasons
respectively?

' The 71wn taught us this explicitly; 27 M7 12 1R WX 17 D0 M7 72 W "1 89); that WX cannot be derived from
avyam M.

% See previous 11Pm>277 1"7 nwown TIE footnote # (1 &) 2, that the Tn% cannot be more 2 than either one of the
07171, See 1Mwn 1"7 2,3 Mmoo and TIE ‘Thinking it over; # 3 (there).
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